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1. BFFHIRA
SEINA [ 20,600,000 J|C 19,090,000 1| [ 1,510,000 ]
ESESEBERA ( 11,100,000 ) |( 10,690,000 ) | ( 410,000 )
w8 0 0
EZXE-MERESHE 400,000 300,000 100,000
REHE 1,500,000 1,480,000 20,000
BAEE 1,200,000 990,000 210,000
3% - Rk 8,000,000 7,920,000 80,000
BEMESESEIA ( 9,500,000 ) | ( 8,400,000 ) | ( 1,100,000 )
FAE 8,000,000 7,300,000 700,000
TEEHE 1,500,000 1,100,000 400,000
HEIEZINA C 4,000,000 J|( 4,300,000 J|C A 300,000 ]
EHERAKRRR - CERAHESIRE 4,000,000 4,000,000 0
HFifte 300,000 A 300,000
MALA L 3,000 J|C 2,577 1{( 423 ]
SZHIFER 3,000 2,577 423 |EgRBEST
BEEHRAG 24,603,000 23,392,577 1,210,423
2. BXFREXE
BEEXH [ 25343000 ]| 16,005,679 J|[ 9,337,321 ]
-RitEXE (25343000 )|( 16,005,679 )| ( 9,337,321 )
NEE1 Gl E IR BB E ) 6,350,000 3,042,627 3,307,373
NE2(EZ2OHE -HRRENHEL) 11,839,000 8,601,537 3,237,463
T (EERUVEMSERITEE) 3,821,000 899,234 2,921,766
ZD2 (AR REE) 131,000 102,674 28,326
ZTOMI(LREFBXIESE) 132,000 132,000 0
HEFY 2,660,000 2,875,999 A 215,999
EERAE 280,000 246,644 33,356 |#oRRMBLEIan
BIEERE 130,000 104,964 25,036
EEEREH C 3,119,000 ([ 3,319,080 1|( A 200,080 )
& S HE 140,000 106,200 33,800 |EZ& -
HWHEFLY 1,140,000 1,232,571 A 92,571
EEERE 120,000 105,705 14295 |#2RRMELEAE
Eg 3 10,000 7,800 2,200
WREXEE 12,000 17,220 A 5220
BB H 1,100,000 1,253,594 A 153,594
BEERE 130,000 104,964 25036 |ERE- BE
HEMRERE 60,000 241,632 A 181,632 |/tyav-ar—mE-xEa4m
RIS ARE 220,000 104,500 115,500 |#5E0RI
EEH 30,000 0 30,000
TR ER 7,000 2,300 4700 |Z50- U AEDARSC
e 150,000 142,594 7,406 |55 L8RTIEAT Sk
BEEHZWE 28,462,000 19,324,759 9,137,241
BEEHNEERE A 3,859,000 4,067,818 A 7,926,818
I FleEXH 441,000 0 441,000
LERIN T =28 A 4,300,000 4,067,818 A 8,367,818
ATHfEBIN T =58 4,500,000 6,502,982 A 2,002,982
REIEHIN T E 58 200,000 10,570,800 A 10,370,800
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BEDEHEL, BEEE FAYEZSHTLS,
2. REBHBINEZBICEFNIEERVABOAR
RYEBIINZZLREICSFNIEERVEABOARIE, XOEEYTHD,
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®l B BIEARES LHXES
He-LTRES 6,502,982 7,570,800
EHEE 0 3,000,000
& it 6,502,982 10,570,800
JBYE 0 0
& it 0 0
REARRBIN T =58 6,502,982 10,570,800




